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AR 1:
fraffed 7 | Ul &1 A T1d SIfeT:
(a) (-30)+10 (b) 50+(-5)
(c) (-36)+(-9) (d) (—49)+49
(e) 13+[(-2)+1] (f) 0+(-12)
(8) (-31)+[(-30)+(-1)] (h) [(-36)+12]=+3
() [(-6)+5]+[(-2)+1]
£.IW1:
(@) (=30)+10 = (—30)x% _ ‘31(:;‘1 __3
(b) 50+(-5) = 50x(%1):50x7(_1)=—10

(©) (-36)+(-9) = (-36) ( J J=§:4
49

st S

(d) (~49)+49 = (49)_ - <5

(e) 13+[(-2)+1] = 13+(- =13X(T1jﬁ~13

() 0+(-12 )—Ox[lzl) 102 0

(8) (-31)+[(-30)+(~1)] = (-31)+(-30-1) = (-31)+(-31)
-0 ()
0 [(-6)+5T+{(-2) 1] = (-6+3)«(-2+1) =(-1)(-1)= (1) =1
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A2 2:

a,b 3R c. & FyfaRad 7= 7 ¥ uds & fog, a+(b+c)#(a+b)+(a+c) DI YIMUd DITI
(@) a=12,b=—-4,c=2 (b) a=(-10),b=1,c=1

g3 2:

(a]m%: a+(b+c)#(a+b)+(a+c)

a=12,b=—4,c=2
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QUM AMI Bl LHS. AT@A R = 12+(-4+2)
=]2+(—2)=12+[%1J=T=—6
fRU M AR B RHS. A@AWR = [12+(—4) |+(12+2)
= x;] +6=-3+6=
_(12 4] 6=-3+6=3

Tg, L.HS. # RHS.
3(d:, 98 gAItd grar

(b) fear&: a+(b+c)#(a+b)+(a+c)

a=-10,b=1,c=1

QUMUAM S LHS. AR = -10+(1+1)
= —10+(2):—5
QUM AMI S RHS. AT@AWR = [-10+1]+(-10+1)
§ = -10-10=-20
Tel, LHS. # RH.S.
31d:, T8 TAMId Bl ol
M3 3:
feaa =il Bt gftf Sifore:
(a) 369+ =369 (b) (-75)+ =(-1)
(c) (-206)+ =1 (d) (-87)+ =87
(e) +1=-87 (f) +48=—1
(g)20=_____ =-2 () +(4)=-3
g3 3:
(a) 369+1=369 (b) (-75)+75=(-1)
(c) (-206)+(-206)=1 (d) (-87)+(-1)=87
(e) (-87)+1=-87 () (—48)+48=~1
(g) 20+(~10)=-2 (h) (-12)+(4)=-3
M3 4:

Ul U8 Ui gW (a,b) fORET, @fd a<b=-3. B O UF gH (6,-2) § i
6+(-2)=(-3).8
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.3 4:
(i) (-6)+2=-3 (i) 9+(-3)=-3
(iii) 12+(-4)=-3 (iv) (-9)+3=-3

) (-15)+5=-3

A 5:

QIUER 12 S dT9EH YR 100C SR U7 A 78 ot I d& 20c ufd @ S R A FH AT 8,

o for 0T A9HM X 8oC A I 3M1eh I ! ATIHH F1 RI?

EIWS5:
Frafafad e ¥@1 a9dH (temperature) &1 FRUd Bl 6;

L RN RS

)
~9-8-7-6-56-4-3-2-1 01 2 3 4 5 8 7
Temperafure in (°C)

20C ATIHT HH 8 H fordr a1 99y = 1 §¢
1ocwméﬁﬁﬁmww=%ﬁ%

ggferg, 180C QM| HH g4 | form a1 999 = %xlS =9Ec

FATHI =12 TS U + 9 BE = 21 8¢ =9 pm
3{d:, 9 TS WTH & YHY ATIAT YT § goC = grm|

A2 6:

TS B S J TS Tel TR & o7 (+3) 3eb U 1 & SR Udieh TTed IR & oY (-2) 3fh

feuoma § 3R 5t Uy &1 5 B BT UTd el B UR Dl 3 el (ol ST g

() T 20 3@ U fpu| afe 39 12 IR Ue! U S 5, A ST fobam i &1

IR T fear g2

(i) WRNCRH (-5) 3ic Ui B 8, Saifds IHb 7 IR gl UTY SfTl & | S foba

g4i T IR T a1 87
£. I 6:
(i) Ueh He! IR o fory 4y 71 3ieh = 3
MY, 12 98! 3TRI o ¢ AU T 3@ = 3x 12 = 36
M1 A 20 376 U fobu |
gferg, it gRT fhu T TTed STRi & 3 = 20 - 36 =-16
g, T TTefd IR & forg flau g 8fep = -2
SHfeTY, TTeTd TRl Bl HEAT = (-16)+(~2)=8
31, TRBT = 8 W T e IR fe B
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(i) 7 WEISWIS femiiym@sfp =3x7=21
AR T d (-5) oich T Bl B,
ggferg, Hife= gRT fhe 7T Tad SR & 8 = -5-21=-26
g, Teb TTefd IR b forg iR g 3ieh =-2
ST, TTefd JTRI I HEAT (—26)+(-2)=13

3k, AP 13 U4l &7 Ted IR e 2

HMRA7:
TS IS (bl @H HUS H 6 m Ui e &1 G 9 = o1l ¢ | af = 1 Yy ard 9 10
m &R Y E BT 8, A —350 m TgaH H foha1 T8 Trm?

E.SWR7:
T AT YT S 10 m SR Y E BT § IR 98 fauid &= H -350 m &1 g 99 Sl
2
SYIOY, G $UP §RITT $d gl =10 m - (-350) m =10 + 350 =360 m
Te omdl g a@adanam =1 e

wﬁq,lmﬁqﬁanaiﬁﬁmm=éﬁﬁt

MY, 360 m B gul a9 B H ol 95 = éx360 = 60 fAife = 1 "er

(i 60 e = 1 Hen)
3{ct:, @H $US B —350 m I UgaH H 1 ¢ &I 999 |
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